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1. Discusion
Basic principles on the handling of the transit-ioi parameters of the P-Charging-Vector header have to be defined. There are 2 decisions needed, as illustrated by the following simplified flows.
Decision 1: transit-ioi parameter(s) in the response is dependent on transit-ioi in the request?
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Decision 2: transit networks may delete transit-ioi parameters?
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2. Proposal
It is proposed to discuss and decide if the home terminating network copies the transit-ioi parameter(s) as received in the request into the reponse.

In order to cover a many transit scenarios a possible, it is proposed that transit network may delete transit-ioi parameters 
_1370081756.vsd
home originating network


transit network
1 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                term-ioi=home2.net#; 


transit network
2 


home terminating network


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                               transit-ioi=transit2.net#; 
                                term-ioi=home2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 



_1370082132.vsd
home originating network


transit network
1 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 


transit network
2 


home terminating network


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 



_1370082210.vsd
home originating network


transit network
1 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;


transit network
2 


home terminating network


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit2.net#; 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit2.net#; 
                                term-ioi=home2.net#; 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit2.net#; 
                                term-ioi=home2.net#; 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 



_1370081649.vsd
home originating network


transit network
1 


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 


transit network
2 


home terminating network


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 


INVITE 
P-Charging-Vector: orig-ioi=home1.net#;


200 OK 
P-Charging-Vector: orig-ioi=home1.net#;
                                transit-ioi=transit1.net#; 
                                                 transit2.net#; 
                                term-ioi=home2.net#; 



